	2019 STATE FLORICULTURE PROBLEM SOLVING TEST

	
Directions: Read each question carefully and choose the best possible answer.  Record your answer choices on the provided Scantron sheets, by correctly bubbling in your answer.  Round final answers to 2 decimal places.  Each correct answer is worth 10 points.

	_____ 1.
	If one ounce of seeds has 15,000 seeds with an 82% germination rate, how many ounces of seeds need to be purchased to produce 27,000 seedlings?

	
	a. 2

	
	b. 3

	
	c. 4

	
	d. 5

	_____ 2.
	Frank has these items in his inventory: 12 benches @ $660.00 each, 4 sprayers @ $150.00 each, 2 greenhouses @ $22,300.00 each, 10 gallons of spray @ $46.00 each, and 3,765 potted plants @ $5.00 each.  What is his total inventory?

	
	a. $26,921.00

	
	b. $53,580.00

	
	c. $72,405.00

	
	d. $125,985.00

	_____ 3.
	A decorative bow requires 1 piece of ribbon 6” long, 1 piece 18” long, 1 piece 20” long, and one piece 30” long.  How many yards of ribbon are needed to make 55 bows?

	
	a. 114

	
	b. 206

	
	c. 340

	
	d. 407

	_____ 4.
	If it takes 1 cubic foot of potting soil to fill four 10-inch hanging baskets, how many 3.5 cubic feet bags are need to plant 3,250 hanging baskets?

	
	a. 201

	
	b. 210

	
	c. 212

	
	d. 233

	_____ 5.
	A greenhouse has 4 benches that are 3’ wide and 75’ long.  If the final spacing for 6” poinsettias is 15” x 15”, what is the maximum number of pots that can be placed on the benches?

	
	a. 144

	
	b. 225

	
	c. 577

	
	d. 900

	_____ 6.
	An invoice listed three available discounts: 3% for cash payment, 5% for early ordering, and 4% for buying bulk quantities.  If the early and bulk discounts were both applied, what would the final bill be after 7.5% sales tax was applied, if the original bill was $1,823.23?

	
	a. [bookmark: _GoBack]$1659.12

	
	b. $1724.78

	
	c. $1783.58

	
	d. $1809.11

	_____ 7.
	A retail flower shop is holding a 30% off clearance sale on their left over chrysanthemums that were originally priced $6.99.  Including 7.5% NC sales tax, what would be the total price if a customer purchased 12 plants?

	
	a. $4.89

	
	b. $5.26

	
	c. $58.72

	
	d. $63.12

	_____ 8.
	A plant grower in NC recently received serious damage to many of her plants due to a hail storm.  Expenses to date include: 
Utility Costs ($1275.00), Labor Costs ($2,536.00), Materials and Supplies ($6,750.00).  
An inventory showed that 9,500 plants can be salvaged and sold.  What price per plant is required to cover the expenses?

	
	a. $1.05

	
	b. $1.11

	
	c. $2.74

	
	d. $3.12

	_____ 9.
	A florist company is considering purchasing a new delivery van.  The company owner has two options for the purchase of the $33,000 van.  
Plan A: Trade old van and get a $4,000 off new van; Plan B: Pay cash and get a 8% discount.
Choosing Plan A over Plan B will:

	
	a. Cost $1,360

	
	b. Save $1,360

	
	c. Save $4,000

	
	d. Cost $5,360

	____ 10.
	It takes 8 inches of florist’s wire to make a corsage.  The wire comes standard in 18 inch lengths.  How many pieces of wire will need to be purchased to make 33 corsages?

	
	a. 15

	
	b. 17

	
	c. 33

	
	d. 65
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